
Kinetic Research Group, LLC
www.KRG-OPS.com

180-Xray for CZ-455
 Thank you for purchasing the 180-Xray chassis.  You have chosen well and we hope that it performs beyond 
your expectations.

 Part I:  Remove action from existing chassis/stock

 Part II:  Install your action into the 180-Xray Chassis

 Installation Instructions:

Safety Warning:  Before you attempt any installation, make sure your rifle is unloaded.  
Also, before starting remove the bolt and magazine from the rifle.

 Contents of Package:
- 180-Xray Chassis assembled

- Baggie with following contents:   
 - Rear action screw - 1ea  socket head screw M6 X 45MM
 - Front action screw - 1 ea socket head screw  M6 X 16MM
 - Washer - 1ea for front action screw
 - Flat nut - 3ea M5 metric for attaching accessories to forend
 - Hex nut - 4ea M5 metric for attaching accessories to forend

- Baggie with 1-3 LOP spacer kit (3x LOP spacers and 3 sets of screws with washers) (X-ray back end only)

 Step 1:  Loosen the screws that hold the action into the stock.  Next pull the barreled action out of the stock.  

 Step 1:  Install front action screw.  To do this,  drop the action screw and washer into place through the   
 bottom of the backbone section.    

 Step 2:  Set your action into the “V” of the chassis, and turn the front action screw to engage the threads in  
 the action to draw the action into the chassis, do not fully tighten at this point.

 Step 3:  Turn the whole assembly upside down, and drop the rear action screw into the hole in the trigger  
 guard, turn the screw to engage the threads in the action. Again do not fully tighten. 

 Step 4:  Pull the action towards the rear of the stock while holding the stock stationary.  This is to seat the  
 action against the recoil lug abutment of the chassis.

 Step 5: Making sure the action is level and not canted to the left or right, next tighten both action screws  
 until they are snug but not fully tightened. 



 Time to adjust the stock to fit you!

 Contents of Package:
- 180-Xray Chassis assembled

- Baggie with following contents:   
 - Rear action screw - 1ea  socket head screw M6 X 45MM
 - Front action screw - 1 ea socket head screw  M6 X 16MM
 - Washer - 1ea for front action screw
 - Flat nut - 3ea M5 metric for attaching accessories to forend
 - Hex nut - 4ea M5 metric for attaching accessories to forend

- Baggie with 1-3 LOP spacer kit (3x LOP spacers and 3 sets of screws with washers) (X-ray back end only)

 X-ray buttstock
 
 Length of pull (LOP) and buttpad vertical adjustment:

 Step 1:  Remove the buttpad using a 3mm metric hex/allen wrench.  Don't lose the T-nuts that are housed  
 in the buttpad mount plate!

 
 Step 2:  Loosen but do not remove the two M5 button head screws that hold the buttpad mount plate onto  
 the buttstock. Once loose, the mount plate can be shifted up or down.  There are notches in the mount plate  
 that correspond to protrusions on the buttstock.  Line these two features up at your desired height and   
 retighten the two screws.  We recommend a buttpad in a higher position for prone shooting and a lower  
 position for bench shooting or where your body is more upright.   

 
 Step 3:  Push the installed M5 buttpad mount screws out of the buttpad.  Replace these screws with the   
 longer screws which are long enough to go through your desired amount of spacers.  Insert desired 
 quantity of spacers onto the longer screws

 Step 6:  Torque both screws to 65 in-lbs of torque in an incremental manner, moving back and forth   
 between the two screws until full torque is reached.  We recommend experimenting with the torque   
 settings to find the best accuracy for your rifle.  In our experience, some rifles shoot better with less 
 than 65 in-lbs.  Lubricating the action screws with oil or heavy grease will ensure that they hold tension   
 even at lower torque settings (in fact lower torque values are suggested for lubricated fasteners). 

USE 3MM HEX WRENCH
TO LOOSEN SCREWS CAPTURED
INSIDE BUTTPAD

USE 3MM HEX WRENCH
TO LOOSEN THESE SCREWS
TO RAISE/LOWER BUTTPAD

REMOVE BUTTPAD SCREWS
INSTALL LONGER SCREWS
INCLUDED IN LOP SPACER KIT



 Cheek Height adjustment - Tool-less cheek height adjustment with a simple return to zero feature

 
 Step 4:  Install the buttpad back onto the buttpad mount plate with the spacers captured between them.    

 
 Step 1:  Loosen the thumbscrew and remove the cheek piece, then slide the o-rings toward the bottom 
 of the riser posts and re-insert the cheekpiece.  

 Step 2:  Getting into position behind the rifle, place your head gently on the cheekpiece.  The cheekpiece  
 should be too high for a proper view through the scope.  With the thumbscrew slightly loose, push the   
 cheekpiece down with your head until it rests in the proper position so you have a perfect view through the  
 scope.  Tighten the thumbscrew to lock the cheekpiece in that position.  When you need to remove the rifle  
 bolt from the action for cleaning, the o-rings will keep the position you selected when you re-install the   
 cheek piece.
 

 
 Step 3:  Optional - You can move the cheek piece backward by removing the two screws holding the cheek  
 piece to the two cheek riser posts and then switching the holes in which the riser posts sit.

 Accessories Mounting:
 A variety of accessories can be mounted to your 180-Xray chassis.  These include:
 - MOE L2 and L3 rails from Magpul as well as the aluminum L2 and L3 versions made by KRG
 - QD sling plate, Sling Loop/QD mount, and Sling Loop Screw made by KRG
 - Night Vision Mount Cap made by KRG
 - Large grips made by KRG
 - many other items/combinations possible

MOVE O-RINGS TO BOTTOM
RE-INSERT CHEEK PIECE
SLIDE CHEEK PIECE INTO POSITION
TIGHTEN THUMBSCREW

LOOSEN/REMOVE THESE 
SCREWS WITH 2MM HEX WRENCH
TO MOVE CHEEKPIECE REARWARD



 Forend Mounting:  
 Accessories mounted to the forend will require the forend to be taken apart into two halves.  One half can be left   
 attached to the chassis.  With the two halves apart, mount the accessory into one half using the backer nuts provided  
 (flat nuts or hex nuts).  With items mounting to the sides of the forend, you can epoxy the hex nuts into their pockets  
 to hold them in place to make mounting the item easier.  Below is an example of mounting an item to the forend:

FOREND, LEFT SIDE ONLY

L2 RAIL
2X M5 FLAT NUT

 Mounting Options Data-

1.190 1.584 1.190

MOE L2 SPACING MOE L2 SPACINGMOE L3 SPACING

1.190

.500

MOE L2 /QD SLING PLATE
SPACING (USE HEX NUTS ON INSIDE)

SLING LOOP QD MOUNT
SPACING (USE HEXT NUTS ON INSIDE)

PROVISIONS TO MOUNT
NIGHT VISION MOUNT CAP

1.584

.650

BUTTSTOCK BOTTOM VIEW

HOLE SPACING FOR MOE L3 RAIL

HOLE SPACING FOR BAG RIDER



 Whiskey-3 Fixed Buttstock
 
 Length of Pull (LOP) adjustment - Tool-less LOP adjustment:

 Step 1:  Loosen the thumbscrew at the top rear of buttstock then turn the locking cam lever 180 degrees to  
 the unlocked (U) position.  The lever will point rearwards.
 
 Step 2:  Move the buttpad to the desired position and then return the lever to its home locked position   
 pointing forwards to the locked (L) position.  You may have to move the buttpad back and forth a bit to find  
 the exact notch where the cam will lock into place.

 Step 3:  Tighten the thumbscrew again to remove any play from the mechanism.  

 Buttpad Vertical Adjustment- Requires hex wrench (Allen wrench)

 Step 1:  Extend out the LOP to expose the set screw which locks the buttpad mounting plate in place. 
 
 Step 2:  Loosen this M8 set screw with a 4mm hex wrench and adjust the buttpad vertically, then retighten  
 the set screw.

 Buttpad Cant Adjustment - Requires hex wrench (Allen wrench)

 Step 1:  Remove the two M4 socket head screws that hold the buttpad onto the buttpad mounting plate  
 with a 3mm hex wrench.  These are accessed through the two holes in the rear of the pad.  Do not remove  
 the washers installed inside the pad.  With the buttpad off, you will notice the alternate threaded mounting  
 holes for the buttpad.  A 15 degree tilt to either side is possible.
 
 Step 2:  Replace these screws with the shorter optional buttpad screws (M4x12mm in bag) and re-install in  
 your desired position.

LOP Lock Lever
Rearward = Unlocked

LOP Lock Lever
Forward = Locked

LOOSEN / REMOVE THIS 
SCREW TO RAISE OR 
LOWER BUTTPAD

LOOSEN SCREWS HERE WITH
METRIC HEX WRENCH

STANDARD VERTICAL
POSITION MOUNTING HOLES

USE THESE HOLES TO
TILT BUTTPAD 15
USE INCLUDED SCREWS



 Mounting Options Data

 The Folding Latch Mechanism (Whiskey-3 folding back end only):

 There are two different latches in the folding mechanism, the main one to lock the stock in the open or   
 usable position and a secondary lock to lock the stock in the folded position.

 Note:  The latch mechanism to hold the buttstock in the folded position is a positive lock system.  You MUST  
 press the unlock button pictured above to unfold the stock.  It does not release just by pulling on the   
 buttstock. 

 Note:  Latch mechanisms were designed to be strong and reliable and if treated properly will give you   
 thousands of folding/unfolding cycles.  Do not abuse the latch mechanisms, i.e. carry a complete rifle by just  
 the folded buttstock or open the stock from the folded position without pushing the unlock button.  We  
 recommend that when carrying in the folded position during heavy field use, strap the buttstock down with  
 a length of nylon or route a strap from your scope cover around it to keep it from getting snagged.

.650
.650

1.584 HOLE SPACING 
FOR MOE L3 RAIL 

HOLE SPACING 
FOR BAG RIDER HOLE SPACING 

FOR BAG RIDER 
THREADED HOLES ARE M5 METRIC

PUSH TO UNLOCK

PUSH TO UNLOCK


